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. Which term below is NOT related to systems integrators or facilities management companies:
A) ASP

B) CPFR

C) Total Solution

D) Outsourcing

. What is the purpose of external firewalls?
A)To prevent users from access sens1t1 éﬁlsanmal data
B)To limit access of 1ntrane esources spec 1C users

C) To keep out unauthorized FHdtebPY R BHIE RstrasstHetworks.

D)To avoid creating security holes to back-end resources.

. Which one of the following statements about the concept of prototyping is right?

A)Rapidly produces an "actual working model" of the information system needed by the user.
B)Is most practical for large-scale projects.

C)Emphasizes getting the design right the first time.

D)Reduces the need for user involvement in systems development.

. Which one of the following is NOT a form of system conversion:
A) Plunge.

B) Parallel.

C) Pilot.

D) Pipeline.

. Which type of analysis should be used to answer the following: Let's cut advertising by $100
repeatedly so we can see its relationship to sales?

A)Sensitivity analysis.

B) Optimization analysis. UNREGISTERED

C) What-if analysis. Created by Unregistered Version

D)Goal-seeking analysis.

. Which one of the following is a Web-based interface that integrates organizational resource for
intranet users and specific extranet users.

A)Supply Chain Management System.

B) Enterprise Information Portal.

C)Executive Information System.

D)Enterprise Resource Planning System.
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. Which one of the following é[liea I (ﬁl} I)U%H lgense 3Rph§;%tlons makes use of Darwinian (survival

of the fittest) randomizing, and other mathematical functions to simulate an evolutionary
process that can yield increasingly better solutions to a problem?

A)Fuzzy logic systems.

B) Virtual reality systems.

C)Knowledge-based systems.

D)Genetic algorithm systems.

. Which one is NOT a component of ERP?

A) General Ledger. UNREGISTERED

B) BOM.
C) Inventory.
D) All of the above are components of ERP.

Created by Unregistered Version

To rapidly communicate the changes in product design is a function of:
A) supply chain management.

B)collaborative planning.

C)manufacturing resource planning.

D)vendor manage inventory.

Which of the following terms is related to the term “lock-in"?
A) Agency Costs.

B) Sunk Costs.

C) Switching Costs.

D) Transaction Costs.

The P3P standard is concerned with:
A)controlling pop-up ads windows.

B)allowing users to surf theﬁ/ﬁﬁﬁﬁignfﬁeﬁlﬁeﬁ

C)protecting data from the destruction of virus.

D)blocking or limiting Cookl(égeated by Unregistered Version

Which of the following refers to large disparities in access to computers and the Internet among
different social groups and different locations?

A)Computer divide.

B) Technology divide.

C)Digital divide.

D)Information divide.

Which statement below about the basic concepts of information ethics is correct?
A) Responsibility means that mechanisms are in place to determine who took responsible action,

who is responsible.
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B) Accountability means ﬂ@%eélt(éﬁ ba};:eer% gtll%% lgat%%ai%ncosts, duties, and obligations for the
decisions you make.

C) Liability is a feature of political systems in which a body of laws is in place that permits
individuals to recover the damages done to them by other actors, systems, or organizations.

D) All of the above are correct.

In network economy, which of the following is more likely to generate the potentiality to
overcome ‘“‘critical mass”?

A) First-move advantage.

B) Metcalfe’s law. UNREGISTERED

C) Long-tail theory.

Created by Unregistered Version
D) Moore’s law.

Which of the following refers to the ability of a computer, product, or system to expand to serve
a larger number of users without breaking down?

A)Hot Swap.

B)Scalability.

C) Expandability.

D)Disintermediation.

Automated toll-collection systems use which type of RFID tags:
A)Reactive.

B)Passive.

C)Active.

D)Receptive.

Currently, the protocols used for secure information transfer over the Internet are:

A)TCP/IP and SSL.
B)S-HTTP and CA.
) UNREGISTERED
C)HTTP and SET.
D)SSL and S-HTTP. Created by Unregistered Version

A distortion of information about the demand for a product as it passes from a lower party to a
upper party across the supply chain is called:

A)bullwhip effect.

B)ripple effect.

C)replenishment effect.

D)exponential effect.

Which of the following are NOT used to capture tactic knowledge?
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A)Expert systems. Created by Unregistered Version
B)Case-Based Reasoning.

C)Fuzzy Logic.
D)Intelligent Agents.

In data mining, occurrences linked to a single event are called:
A)associations.
B)sequences.

C)classifications

D)clusters. UNREGISTERED
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